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TRIG BASICS

Find the missing side or angle:
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UNIT 2 — EOCT Review Name:

In right trisngle ABC, angle 4 and angle B are complementary angles. The value of
cos A4 is % %’Wimt is the value of sin B?
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Triangle 48C is given below. What is the value of cos A? A
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A 12-faot ladder is leaning against a building at a 75° angle with the ground.

Which ean be used fo find bow high the ladder reaches up the side of the building?

A hot air balloon is 1200 feet above the ground. The angle of depression from the hasket

5.
of the hot-air balloon to the base of a monument is 54°.

Which equation can be used to find the distance, , in feet, from the basket of the hot-
air balloon te the hase of the menument?
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6. In the figire-below, L DEF ~ LI GHF. Which statements are true? .~ ¢
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8. A ramp that is being constructed must be 42 inches long and reach a ledge that is-21 inches tall.
Whichinverse trigonometric ratio could be used to

find m<£B?
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Constructed Response:

9. Priya has planted a garden shaped Iike a right triangle. One leg of the triangle
is 5 meters long, and the angle formed by it and the hypotenuse is 50°. If Priya
wants to build a fence around her garden, how many meters of fence will she

need? Round your answer to the nearest tenth. O
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10. A shelf extends perpendicularly 26 cm from a wall. You want to place
a 32 cm brace under the shelf, as shown below.

a. To the nearest tenth of a centimeter, how far below the shelf should
the brace be aftached to the wall? Show your work.
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b. To the nearest degree what angle does the brace make with the wall? Show your work.
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c. To the nearest degree, what angle does the brace make with the shelf? Show your work.
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